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5a. Show these improper fractions as a
diagram and a mixed number.
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éa. Convert these improper fractions into
mixed numbers.
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7a. Which answer matches the diagram?

8a. Sally is sharing out 4 pizzas with her
friends.

Each pizza is cut into 8 equal pieces.
They eat 24 slices of pizza.

How much pizza has been eaten?

Give your answer ds a mixed number.
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1a. Show these improper fractions as a
diagram and a mixed number.
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2a. Convert these improper fractions into
mixed numbers.
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3a. Which answer matches the diagram?

4a. Amy is sharing out 5 pizzas with her
friends.

Each pizza is cut into 5 equal pieces.
They eat 19 slices of pizza.

How much pizza have they eaten?

Give your answer ds a mixed number.
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9a. Show these improper fractions as a
mixed number. Simplify your answer.
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10a. Convert these improper fractions
into mixed numbers. Simplify your answer
where possible.
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11a. Which answer matches the
diagram? Simplify your answer.

12a. Kasia is sharing out 5 pizzas with her
friends.

Each pizza is cut into12 equal pieces.
They eat 34 slices of pizza.
How much pizza has been eaten?

Give your answer ds a mixed number
and simplify it.
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Varied Fluency
Improper Fractions to Mixed Numbers

Developing

la. a -9 parts shaded = 4%
b - 14 parts shaded = 1 %
c - 8 parts shaded = 1 %
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